KnaccnHas pa0ora.
OnpezeneHue KBaaparHoro
ypaBHEHU. HenmoHelie
KBaJIPaTHbIC YPABHCHUS.




Tecm

b) 0; ¢)2,5;

b) 16;

b)6; ¢)9;

1. 2x-5=0.
d) -2.5.
2.x +5=11.

c) —16; d) 6.

d) V3.



OTBeTbl K TECTY :




2
ax“ +bx+c=0,
X —nepeMerHHA .
a,.b,c—uucna,

a = 0.

(-IepBbIH KOIP(DUIINECHT,
b-Bropoit ko3¢ durment,

C-CBOOOTHBIN YJIEH.




ax” +bx+c=0

a b

1 lx2+x—3=0
2

2 3xZ+5x=0

3 | 7x2-14=0

4 | —2x2 =0




ax” +bx+c=0

a b C
L > 1| 1 | -3
—x"+x—-3=0 | -
2 2
3x°+5x=0]| 3 5 0

7x*—14=0 | 7 | 0 |14

—2%x%2 =0 -2 0 0




